| Efficiency vs Dxy |
> 0.2
1% : : : : : :
© | N N N N N N
L e | B s (e ST N
< : A |
éYllGL ------ R 13 1 (TR R o N il S S
Q L : :

S 0.24F e

©
0.12

bl

. ﬂ\
E | "|'| . 4

, WWM
"“ .MI“M

0O 5

o
=

el

&

1.—"-"!"-- r-rinm—--r-

0.9850 15 -

TP dxy (cm)
_ —— it_step2_ttbar-phasel-newgeom
| EfflClency vs Dz | —— DOM an%Ie steé)z _ttbar-phasel- newgeom

10 15 20
—a— U%IVI OI'I |na| SIEPZ_TDar-pmndasel-newgeom

—+— DOM™fast_step2 tthar-phasel-newgeom
0.2 —— DQM”pixelCPETemplate_step2_ttbar-phasel-newgeom
N . X X
© : : : : :
wn I~ N N N N N
>0.18 P P P PR :

L>>\ r : : : : :
G 0.6 i A I S

S L : : : : :

E0.214 promrereene Frrerrereee e A A )

o : : : : :
R

11 TR TN s i —
0B

1 S
N R R oo R S
002wt oo e + ----- i -
.ok '
120

Ratio

1.0

10 20 30
TP dz (cm)




	Contents
	Page 1


